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Fleming’s left hand rule is applicable to

(a) dc STe¥eX / dc generator
(b) dc #EX / dc motor
(c) gcarafd=/ alternator

(d) TEHER / transformer

2 dig @, 9= 9% #T em.f. 2V § AR ARe 9ieRer 0.5Q &1 sl & Siisr a/@r g

Five cells, each with an e.m.f. of 2V and internal resistance of 0.5Q are connected in
series. The resulting battery will have

(@) 2V & em.f. 3R 0.5 Q & AdRF gfeRrer

An e.m.f. of 2V and an internal resistance of 0.5 Q
(b) 10V & e.m.f. 3R 2.5 Q & 37dRS FfeRkiT

An e.m.f. of 10V and an internal resistance of 2.5 Q
(c) 2V & exm.f. 3R 0.1 Q &7 3R TfRIeT

An e.m.f. of 2V and an internal resistance of 0.1 Q

(d) 10V & e.m.f. 3% 0.1 Q & 3aRe gfaR

An e.m.f. of 10V and an internal resistance of 0.1 Q

3 D.C.YRYY &r ofFd °gch gAM  glAT §

The power factor of a D.C. circuit is always

(a) SHE A HA/ less than unity

(b) TS / unity

(c) TS ¥ SI1GT/ greater than unity
(d) =T/ zero

4 AC oRuyF arTdr e g

The direction of current in an AC circuit

(a) HhRIcHS ¥ HKOMcHS / is from positive to negative.
(b) g#RM U fEem# / is always in one direction.

(c) &oT ¢7or H 9Radf / varies from instant to instant.
(d) TR =1gl fhar ST AHAT / cannot be determined.
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5

6

7

230 V ufed asa & i 60 W sod THAATTR H &1 IfS UF doa STof I1=T ar
Three 60 W bulbs are in parallel across the 230 V power line. If one bulb burns out

(a) FCF ollgeT # SATET GRT gAY
there will be heavy current in the main line
(b) 37T & Too JehITRIT T8T graT
rest of the two bulbs will not light
(c) @eNr ieT Tod FehITRAe =TET ghar
all three bulbs will not light
(d) 37T & Tod TR 3T

the other two bulbs will remain glowing

I T drelsh H 120 FicliFd T AT 60 Ahes & o0 Yared &idr § ol dreleh & ORT

If 120 Coulomb of charge passes through a conductor in 60 sec, the current in the
conductor is

(a) 0.5A

(b) 2A

(c) 3.33mA

(d) 0.3 mA

Ifg S & &AAT 2800 mAhE, df IF ........ & v 1.4A arr smfd e
If the capacity of a battery is 2800 mAh, it can supply 1.4 Ampere current for

(a) 200 fA=Tc / 200 minutes
(b) 100 f&%=c / 100 minutes
(c) 120 fAsIc / 120 minutes
(d) 240 f&=T / 240 minutes

gfderd dleedl FAHT. oo x 100
(a%f VNL: FIT—?-I’I'S' EﬁRT-!T) VFL: S’T‘f (_“ngm)

Percentage voltage regulation = x 100 ; (Where Vi =No
Load Voltage, Vi =Full Load Voltage)

(@) (VNL-VEL)/VEL
(b) (Vne-VEL)/ VL
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10

11

12

(¢) Vr/VaL
(d) VnU/VEL

31ead Afed TU=alka a9 glar § o9

Maximum power is transferred when

(a) @rs gfaaTer> TEId gfdarer

Load Impedance > source Impedance
(b) oz ufaemer < Ea gfdemr

Load Impedance < source Impedance
(c) @irs gfaeTeT = F3id gfcarer

Load Impedance = source impedance
(d) g gideTer=0

Load Impedance =0

VY37 3R RSB ZHER #, faegd afed ...... # aRade & far v ooy @
gE aRuer 7 Feiaia g §

In a step-up or step-down transformer, electrical power is transferred from one circuit to
another without change in

(a) drecdr/voltage
(b) @RI/ current

(c) 3mgRI/ frequency
(d) @rfkar/ capacitance

qrgeT o¥er 1 MY AT 200 VE, A 3G irad AT &

The peak value of a sine wave is 200 V. Its average value is

(a) 1274V
(b) 1414V
(c) 282.8V
(d) 200V

A.C. URYY &1 e foraehr 0.8 e Iomeh (lagging) 40 kVA 9Ruy garm 3meRd
afed Bl

The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA. The power
drawn by the circuit is

(a) 12kW
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13

14

15

16

(b) 22 kW
(c) 32kW
(d) 64kW

Windows is a

(a) STITTHTT ST/ Programming language

(b) 3iTeRsT TR / Data base

(c) TORfET gomelr / Operating system

(d) TRI@ 37T Yiekhier / Date transfer protocol

SO Aeas fTn & fov Hler A @ifeufaenr yged @ ol §

Which topology is used for a central Network controller

(a) drr/Star
(b) ST/ Mesh
(c) dcI/Ring
(d) fag ¥ feig/ Point to Point

10 V&1 317 faera ook Si s/l & @y Sherl a/r g dur 1 KQ &1 9fcker s/-ls & ary
@ 3 ST T ¥, A SIS @ yaRa e gwh

A forward potential of 10V is applied to a Si diode. A resistance of 1 KQ is in series with
the diode. The current through the diode is

(a) 10 mA

(b) 9.3 mA

(¢) 0.7mA

(d) 0mA

Ueh gIfaEey &l B =200, IS TIgsh URT 15 mA, § df 98 4RI .......... RE

A transistor has a typical value of f =200, If the collector current is 15 mA, then base
current will be

(a) 0.75mA
(b) 0.3 mA

(¢) 0.075mA
(d) 7.35mA
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18

19

20

21

FET & fou fe=ifaf@a & ¥ @ér fasheq sla-ar g2
Which of the following option is true for FET ?

(a) gfa- gdra/ bi-polar
(b) & geTqe yfasTeT/ low input impedance
(c) T fAGId gfed / Is a current controlled device

(d) SEHEI dTEeh! GaRT ATl / operates with majority carriers

FoE B qRI- YoT Yartich &l SaTa giell &

The efficiency of a class B push-pull amplifier is
(a) 90-95%

(b) 95-100%

(c) 60-65%

(d) 75-80%

Op-amp ST dlecdl TAEH & HI dlecdl oIfeH....... grdr gl

An Op-amp as a voltage follower has a voltage gain of

(a) 3EEF/ Infinity

(b) 2T/ Zero

(c) @15/ Unity

(d) z%1S A/ Less than unity

Afaf@a F & i a1 gfaers gcs §

Which of following is a resistive component

(a) TE3/LED

(b) WICI ™IS / Photo diode
(¢) TSI /LDR

(d) TEEIR/SCR

S TS 39T 999 & ar & gHE @ §

When the diode is forward biased, it is equivalent to

(a) T 3AT® f&qT / An off switch
(b) U 3T f&aa/ An On switch
(c) U 3T [ / A high resistance
(d) v 3Tg enfd/ A high capacitance
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23

24

25

IC 555 is used for

(a) drecdr =0T/ Regulating voltage

(b) Wt 39elsY I/ Providing amplification
(c) ©eteT/ Filtering

(d) eIfers §=11eAT / Making oscillator

dieedr @ & fau 3uged Ifed

The device used for voltage regulator is

(a) THITH ST/ schotky diode
(b) X 3 AE/ zener diode

(c) 9@ 3™IS/ varactor diode
(d) csTel SIS / tunnel diode

Te W 3R F5el TR 7 §, dF 38 PEA &

A capacitor and coil in parallel is called

(a) 3%T®T IRYY / Tuned Circuit
(b) FrelsT IRIY / Timing Circuit
(c) Taei® 99y / Delay Circuit
(d) RAT g9/ Schmitt Circuit

Light travels along optical fibers by

(a) 379dce / Refraction
(b) Wrad= / Reflection
(c) ufeole / Scattering
(d) e 3TdRe WradsT / Total internal reflection
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26

27

28

29

30

PCM &1 37T &
PCM stands for

(a) IeH FRITAGAA/ Pulse carrier modulation

(b) IT$# IS ATgeleT / Primary code Modulation

(c) UeH HIS AZT / Pulse code Modulation

(d) oTSHY detet Hrgelel / Primary channel modulation

gferae dsiorT # A+B =
In Boolean Algebra A+B =
(a) A+B

(b) A*B

(c) A+B

(d) B+A

gfasmemdr 10111 & GHATT AT ..o, gar g
The decimal equivalent of binary 10111 is

(a) 27
(b) 19
(c) 23
(d) 21

Parity bit check is used to

(a) 1 f9eFfE I gar efemar / Detect 1 bit error

(b) 1 foe 3 geara / Correct 1 bit error

(c) 1 fae FfE 9T &Mt 3R GUR= / Detect and correct 1 bit error
(d) 2 fee 3¢ gara / Correct 2 bit error

AfecterraX 16:1 & fT 3Maegs HI=0T dEa & &r.... §

Number of control lines required for 16 to 1 multiplexer is
(a) 2
(b) 3

(c) 4
) 16
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31 9 fwehr 3m3eqe e g1 &, I 3R afe @l so9qe 3wa ¢
The gate whose output is LOW, if and only if all the inputs are HIGH, is
(a) NAND
(b) NOR
(c) OR
(d) AND

32 IR gfeddes e ... F T ygag g §

Successive approximation technique is used for

(@) A ¥ DIRad= / A to D Conversion
(b) D & AgRade / D to A conversion

(c) dTIATT ¥ Areedr IRadsT / Temperature to voltage conversion

(d) Taefcr & dieedr 9RddeT / Strain to voltage conversion

33 w& 4 f9¢ &1 F13eT 0,1,2........ N deh @l IOTAT X Fohdl § ol “n” FT AT FAT R ?

e 9

A 4 bit counter is used to count from 0,1,2...n. Value of “n” is

(a) 16
(b) 15
@) 32
) 31

34 CRO # Y- 3187 ....... &Y gfar &

Y —axis in a CRO normally represents

(a) 3mMgfT/ Frequency
(b) dleedr/ Voltage
(c) &I/ Time

(d) 3maf&r/Period

35 200 Hz 3gf & AT 37dc @let........ gram
For a frequency of 200 Hz, the time period will be

(a) 0.05s
(b) 0.005s
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(c) 0.0005 s
d) 0.5s

36 3 wew oo & AT F U gedr ¥ F 3ugeEd g §

Very small displacements are effectively measured using

(2) TTAEE/LVDT

(b) FHEIHIT/ Multimeter
(c) uffiTex/ Thermistor

(d) ¢epr-aAfaT/ Tacho-generator

3 feioi@e ¥ & Slorar aRRy Ao & T s v

Which of the following is used for resistance measurement

(a) 93T &/ Wein bridge

(b) drewele & / Wheatstone bridge
(c) #Headel ¥/ Maxwell Bridge
(d) QRET AT / Schering bridge

38 yfoRves & Tl W1 A5 . TEIdr giad & §
The gold color code in a resistor indicates a tolerance of
(& 1%
(b) 5%
(c) 20%
(d) 10%

39 e &t 7 yged afoRiues 7 3eafld aot 85 (58 e ) fio, ST, areh A aidr g, o
3G A g

A resistor used in colour TV has the following colour bands (in this order): yellow,
violet, orange and silver. Its nominal value is

(a) 4.7KQ+10%
(b) 4.7KQ+5%
(c) 47KQ+10%
(d) 470 Q+5%

40 soEciee TR & A F & AT v AR e sgEd g §
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41

42

43

44

A typical solvent used for cleaning of Electronic assemblies is

(a) 3MTSAT 9IS Vedhlgel / Iso Propyl Alcohol
(b) UG/ Petrol

(c) rEfecs STer /Carbonated Water
(d) ga=TSgste / Liquid nitrogen

qrax gif8EeRt & 1Y FSAT ATRAA. ... EaRT SIETRIT ST §

Power transistors with heat sink are fixed by

(a) deseT/ Welding

(b) s%eT fafer/ Fastening
(c) sif$sr/Bonding

(d) efYar/ Taping

e AW gy Sis § AWG 22 & scoaf AWG 18 dR &l I3« fhar Srar &, 39aT

In a particular circuit connection, AWG 18 wire is selected over AWG 22. The reason is
that it is having

(a) 3T YRT dgeT et ol &THAT / Lesser weight
(b) FAACE / Less thickness
(c) 3Taufarier/ Higher resistance

(d) 3T URT ageT el I &TAAT / Higher current carrying capacity

ESD &r 313 gl
ESD stands for

(a) Sollaer Terfes f3arsst/ Electrostatic Device

(b) seoiaer dRAfea f3argst / Electro sensitive Device

(c) zoarer dfdfea f3warer / Electro sensitive Discharge
(d) solierer Terfes f3&arst / Electro static Discharge

T {39 Tiest FucsT foger 99T PCB & geah Aol & fav fhar Smar §

A typical Solder composition used in component assembly to PCB is

(a) rar 3R TIEr / lead and silver
(b) ¥rr 3R d@F / lead and copper
(c) ¥ram 3R & / lead and zinc
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45

46

47

48

49

(d) ¥ 3R fee / lead and tin

3o oI9=T @l 39ATeT PCB HASThT A................ & fov fopam Sar §

Conformal coating is done in PCB assemblies to

(a) ol GURST / Improve strength
(b) 7 3R HWOT & Felercifeierd ! swl=ll / Protect electronics from Moisture and

contamination
(c) TaRrer dreedr AU/ Increase withstanding voltage

(d) HiedouReh UR=T/ Improve aesthetics

e TATEd & & |9 & ool HUTHIT T &
Which is the lightest particle among the following

(a) WS/ Proton

(b) YIA/ Atom

(c) #ggiT /Neutron
(d) setaFgleT / Electron

Resistance of a copper wire decreases when ...................... increases

(a) TS /length

(b) dMTHATST / temperature
(c) faegd e/ insulation
(d) =T /diameter

FiT @ gy geh IR ORT & deerg FHT AU e

Which circuit element(s) will oppose the change in circuit current ?

(a) fa% foRrers / Resistance only

(b) &% 9RRaT/ Inductance only

(c) % e1Rdr/ Capacitance only

(d) 9Rehdr 3R g1iRdr/ Inductance and capacitance

3RS e & AR Fr feem gad #dr g

The arrow direction in the diode symbol indicates
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50

51

52

53

(a) golarglel 9grd &1 fgerm / Direction of electron flow.

(b) < gTa & fe=rm (¥ &RT T f&em) / Direction of hole flow (Direction of conventional

current)

(c) ©c Jgra & fgem @ faudia) / Opposite to the direction of hole flow

(d) $.uH &F SAfeid g/ Direction of EM field generated

The frequency range of FM radio is

(a) 555KHzto 1.6 MHz
(b) 2GHZ to 4GHZ

(c) 20Hzto 20KHz

(d) 88MHzto 108MHz

AC 9R9y & verfad &g & Tefl............... & fow gged giar §

In AC circuits, laminated iron is invariably used in order to

(a) TS 4RT &7fd I A de / reduce eddy current loss
(b) a9 fafeRioT §&TeT a1 / increase heat radiation
(c) TSI T TEAT 3 FefoT §=11e1 / make assembly cheap and easier

(d) Ry URIFIAT A A / reduce circuit permeability

& & R ST T Fae PR fevaTeT 2 &
The impedance of coaxial cable used for TV

(a) 75 ohms

(b) 500 ohms

(c) 300 ohms

(d) 10 ohms

arEdidsh RO & I giad
Identify the gate from truth table
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54

55

56

INPUT OUTPUT
A B
0 0 1
0 1 0
1 0 0
1 1 1

(a) NOR
(b) NAND
(c) XNOR
(d) XOR

fAefaf@a & & #la @1 Al - delesa AFY §
Which of the following is a Non-volatile Memory

(a) RAM

(b) DRAM
(c) EEPROM
(d) Cache

Thermocouple is based on the principle of

(a) ¥9e gHTd / Seebeck effect
(b) ®13H f4¥A / Faraday’ law
(c) st faa# / Lenz law

(d) e ==# / Gauss law

THATET helel T Jolell H ] TRIABT & THG MH ... :

Main advantage of fiber optic cable over co-axial cable is

(a) 3T §&d=T/ easy handling
(b) A AR/ less weight
(c) & &fd/low loss
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(d) 3THTeT 9{ETUT/ easy testing

57  farAfaf@d aRuy # A 3R B & g RsEiaw #ar &

What is the potential difference between A and B of following circuit

|y
| L

1
']
Lov 10 BN
=
[
2 B
(2) 8V
(b) 26V
() 14V
d) 32v

58 faeifaf@d aRuy & gfokies & R w 9eRia aRer gl

The wave form across the resistor of the circuit given below can be represented by

%

12

1

59 forAfaf@d 311 3R Sohe SIE SHERTOT arell i T g

Identify the device having the following Forward and Reverse bias characteristics.
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60

+I

e sy
1
(a) SCR
(b) DIAC
(c) Zener Diode
(d) FET

qiRqer &I ggarer / Identify the circuit

1mH
100k02

(a) T3 urd e / High pass filter

(b) dsurd e / Bandpass filter

(c) o ard fhee / Low pass filter

(d) ds RSrere et/ Band reject filter
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1 D.C.9R9y &1 afdd g gAem @l ©

The power factor of a D.C. circuit is always

(a) SHE A HA/ less than unity

(b) TS / unity

(c) ST ¥ ST/ greater than unity
(d) =T/ zero

2 gfE v areiE F 120 FHieled H G 60 Thes F v yarigd glar & ar oo & anr

If 120 Coulomb of charge passes through a conductor in 60 sec, the current in the
conductor is

(a) 0.5A

(b)) 2A

(c) 3.33mA

(d) 0.3 mA

3 WYY I WUSEA EdeR H, faegd afed ... # gRadsT & a1 v gy &
gEr a9y F TR g §
In a step-up or step-down transformer, electrical power is transferred from one circuit to
another without change in

(a) drecdr/voltage
(b) @RI/ current

(c) 3R/ frequency
(d) @rfkar/ capacitance

4 org e, ST gcdeh & em.f. 2V § 3R 31cRen 9foRIEr 0.5Q @ A@er & SiisT 91247 Bl

Five cells, each with an e.m.f. of 2V and internal resistance of 0.5Q are connected in
series. The resulting battery will have

(a) 2V & em.f. 3R 0.5 Q &7 3aReE giaer
An e.m.f. of 2V and an internal resistance of 0.5 Q

(b) 10V & e.m.f. 3R 2.5 Q &7 3’iaRes gfcarer

An e.m.f. of 10V and an internal resistance of 2.5 Q
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(c) 2V & e.m.f. 3R 0.1 Q &7 37caRe FfaRier
An e.m.f. of 2V and an internal resistance of 0.1 Q

(d) 10V & e.m.f. 3% 0.1 Q & 3aRe gfaRer

An em.f. of 10V and an internal resistance of 0.1 Q

5  yfderd dieear RIEAT. o, x 100
(aﬁ VNL: FIT—?—I’I'S' EﬁRT-!T) VFL: E’T“r mm)

Percentage voltage regulation = x 100 ; (Where Vyi=No
Load Voltage, Vi =Full Load Voltage)

(@) (VnL-VEL)/VEL
(b) (VnL-VEL)/ VL
() Vr/VaL
(d) Vn/ViL

Fleming’s left hand rule is applicable to

(a) dc STe¥eX / dc generator
(b) dc AT / dc motor

(c) Scamafa / alternator

(d) TFHER / transformer

7 HOaH ufFd TUEaRT a9 giar § a9

Maximum power is transferred when

(a) @8 gfaeTeT> FEId gicarer

Load Impedance > source Impedance
(b) s gfaTer < FIT Fictamen

Load Impedance < source Impedance
(c) @Is gfaaTT = TaId Ifaarr

Load Impedance = source impedance
(d) oirs wfdemer=0

Load Impedance = 0

8  3fg d<ir T &t 2800 mAhE, & TE ........ & Foavw 1.4A g smqfd e
If the capacity of a battery is 2800 mAM, it can supply 1.4 Ampere current for
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(2) 200 fB=ie / 200 minutes
(b) 100 f&=e / 100 minutes
(c) 120 fAsIe / 120 minutes
(d) 240 fA=e / 240 minutes

9 AC 9Ruy 3 ey hr faem i

The direction of current in an AC circuit

(a) HHRIcHS ¥ HKOMcHS / is from positive to negative.
(b) AT T &M # / is always in one direction.

(c) &foT e7or H 9RAdl / varies from instant to instant.
(d) TR w7gT foram ST @eRaT / cannot be determined.

10 230 V afdd @ & AT 60 W Sod TAER H g1 IfS U dod STof I1T T
Three 60 W bulbs are in parallel across the 230 V power line. If one bulb burns out

(a) FTT TS H AT URT g1am
there will be heavy current in the main line
(b) 31 2 Tod YeHIRIT AGT gl
rest of the two bulbs will not light
(c) |3 AT Tod FehTTRIT 8T glar
all three bulbs will not light
(d) 37T & Tod YRITAT W

the other two bulbs will remain glowing

11 Op-amp St dleedr Hags § & dleedl offew....... grar gl

An Op-amp as a voltage follower has a voltage gain of

(a) 3EEY/ Infinity
(b) =T/ Zero

(c) g@1g/ Unity
(d) s A/ Less than unity

12 For@ B YRI- Yol Yatich &I gaTam giell &
The efficiency of a class B push-pull amplifier is

() 90-95%
(b) 95-100%
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13

14

15

16

17

() 60-65%
(d) 75-80%

A.C. 9Ray &7 gaqc foraepr 0.8 fed unih (lagging) 40 kVA IRUY eanrT 3R
afed Bl

The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA. The power
drawn by the circuit is

(a) 12kW
(b) 22 kW
() 32kW
(d) 64kW

Windows is a

(a) STIMTHIT ST/ Programming language

(b) 3iTeRsT 3R / Data base

(c) TORfET gomelr / Operating system

(d) dRI@ 37RO Yieihier / Date transfer protocol

Fird weash s & fu @l @ qifeafadhr sy & o §

Which topology is used for a central Network controller

(a) T/ Star
(b) ST/ Mesh
(c) dciI/Ring
(d) TS @ T/ Point to Point

eTaf@a & & &I ar gfays e §

Which of following is a resistive component

(a) TIE3/LED

(b) WICI ™IS / Photo diode
(¢) USSR /LDR

(d) TEEIR/SCR

Teh I8 &1 B =200, I HIgeh URT 15 mA, § dl 98 ORI .......... g

A transistor has a typical value of = 200 , If the collector current is 15 mA, then base
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18

19

20

21

current will be

(a) 0.75mA
(b) 0.3mA

(c¢) 0.075 mA
(d) 7.35mA

FET & fav e=ifaf@d & & @ fasweq ls-ar §7?
Which of the following option is true for FET ?

(a) &fd- g/ bi-polar

(b) HAZTIC gfdsren / low input impedance

(c) ©RT AT JfFd /s a current controlled device

(d) SEHEA dTEehl GART ATl / operates with majority carriers

10 V & 3197 999 U Si SIS & T ST -7 & aar 1 KQ &7 9fae SIS & I

HEe # SISt =T &, A1 3RS ¥ gAIfed URT gremr
A forward potential of 10V is applied to a Si diode. A resistance of 1 KQ is in series with

the diode. The current through the diode is
(a) 10 mA

(b) 9.3 mA

(c) 0.7mA

(d) 0mA

gt o¥er &1 MY AT 200 V §, A 3G irad AT &

The peak value of a sine wave is 200 V. Its average value is

(a) 1274V
(b) 1414V
(c) 2828V
(d) 200V

Te HUTRA 3R 5ol AR 7 &, a 38 FEd &

A capacitor and coil in parallel is called
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22

23

24

25

(a) 38T IRYY / Tuned Circuit
(b) FreleT IRIY / Timing Circuit
(c) Tdei® 99y / Delay Circuit
(d) fra aRaer/ Schmitt Circuit

dieedr @ & fau 3uged Ifed

The device used for voltage regulator is

(a) THITH SIS/ schotky diode
(b) IR 3 S/ zener diode

(c) @ 3IE/ varactor diode
(d) TeTeT 3RS/ tunnel diode

gieg=l SiemErorT & A+B =

In Boolean Algebra A+B =

(a) A+B

(b) A*B

(c) A+B

(d) B+A

ST SIS FT TIE g A F AW BT ©

When the diode is forward biased, it is equivalent to

(a) T 3A® f&qT / An off switch
(b) U 3T f&aa/ An On switch
(c) U 3T faeh / A high resistance
(d) v 3Tg efd/ A high capacitance

Parity bit check is used to

(a) 1 9 3 T 9T M / Detect 1 bit error

(b) 1 fdeFfE I gurar/ Correct 1 bit error

(c) 1 foe 3 I 1T 3R e / Detect and correct 1 bit error
(d) 2 faeFfe gareat/ Correct 2 bit error
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26

27

28

29

30

AfcecerraR 16:1 & AT 3Maeges =0T asaT & gEr.....

Number of control lines required for 16 to 1 multiplexer is

(@) 2
() 3
(c) 4
@) 16

PCM &1 37T &
PCM stands for

(a) YT HRAT AT/ Pulse carrier modulation

(b) maﬂgﬂ@ﬂﬂ/ Primary code Modulation

(c) Yo FIS AZT / Pulse code Modulation

(d) 9rg#r AeteT ATgeleT / Primary channel modulation

Light travels along optical fibers by

(a) 319adsT / Refraction
(b) WRrade / Reflection
(c) wfdular/ Scattering
(d) e 31iafkes WRrddisT / Total internal reflection

IC 555 1s used for

(a) drecdr 0T/ Regulating voltage

(b) Wt 39eleY AT/ Providing amplification
(c) ©eteT/ Filtering

(d) eIfers §=11eAT / Making oscillator

gfasmemdr 10111 & GHATT AT ...ooovvnn. gar g
The decimal equivalent of binary 10111 is

(a) 27
(b) 19
(c) 23
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) 21

31 Efer &rdr 3 e afoRiues 7 3eafld aot 85 (58 e ) e, ST, areh i aidr g, ar
3G AT g

A resistor used in colour TV has the following colour bands (in this order): yellow,
violet, orange and silver. Its nominal value is

(a) 4.7KQ+10%
(b) 4.7KQ+5%
) 47KQ+10%
(d) 470 Q+5%

32 gl WA & WG a3 & v ve faey faomres ggea gier §

A typical solvent used for cleaning of Electronic assemblies is

(a) 3MTSAT TS Vedhlgel / Iso Propyl Alcohol
(b) UG/ Petrol

(c) rEfercs STer /Carbonated Water
(d) ga=rSgste / Liquid nitrogen

33 faefaf@a & & wlerar 9iae A9e & fav gged gar &

Which of the following is used for resistance measurement

(a) 93T &F / Wein bridge

(b) deEe= A / Wheatstone bridge
(c) Hergdel A / Maxwell Bridge
(d) QN7 AT / Schering bridge

34 IR Giewtdhed ddellh ... & Fov uged gl §

Successive approximation technique is used for

(@) A & DIRad= / A to D Conversion

(b) D & A9Rad= / D to A conversion

(c) ATIHTT ¥ drecdr uRkadsT / Temperature to voltage conversion
(d) ﬁajﬁﬁeﬂﬁ?ﬂ gfa@dsT / Strain to voltage conversion

35  de fower 3M3eye fAe gidr &, Ife 3R Ife @l gaiqe 3= &
The gate whose output is LOW, if and only if all the inputs are HIGH, is
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(a) NAND
(b) NOR
(c) OR
(d) AND

36 CRO # Y- 3187 ........ HT g2NaT &

Y —axis in a CRO normally represents

(a) 3R/ Frequency
(b) dreedr/ Voltage
(c) ¥#HI/Time

(d) 31afer/Period

37 200 Hz 3mgfT & fIT e &iel........ gem
For a frequency of 200 Hz, the time period will be

(a) 0.05s
(b) 0.005 s
(c) 0.0005s
d) 05s

The gold color code in a resistor indicates a tolerance of

(@) 1%
(b) 5%
©) 20%
(d) 10%

39 ©& 4 f3¢ &1 F3eT 0,1,2........ N deh I IOTAT X FohdT ¢ dl “n” FT AT FAT HET ?

€C_.9

A 4 bit counter is used to count from 0,1,2...n. Value of “n” is
(a) 16
(b) 15
(c) 32
(d) 31
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40

41

42

43

44

3 Hea faeumeeT & AT & fv gomrdy 39 & 3ugerd gia §

Very small displacements are effectively measured using

(a) TAA A/ LVDT

(b) HEHET/ Multimeter
(c) ¥fA¥eX/ Thermistor

(d) THI-ATTT / Tacho-generator

3RS Reg & X Fr R . gad HIdr §

The arrow direction in the diode symbol indicates

(a) gorarglel 9gTd 1 fgerm / Direction of electron flow.
(b) < g1 Fr &= (¥ &RT T fgem) / Direction of hole flow (Direction of conventional

current)
(c) ©c Jg1a & fgem & faudia) / Opposite to the direction of hole flow

(d) $.uH &8F SAfeid g/ Direction of EM field generated

ESD & 319 gl
ESD stands for

(a) Sollaer Terfee f3argst/ Electrostatic Device

(b) seoiaer dfAfea f3argst / Electro sensitive Device

(c) zorer dfdfea f3warer / Electro sensitive Discharge
(d) soheer Terfes f3&arst / Electro static Discharge

Pl @1 gRTY gk IR ORT & deelld Hl AT T

Which circuit element(s) will oppose the change in circuit current ?

(a) A% foRrerR / Resistance only

(b) &% SReRaT/ Inductance only

(c) % e1Rdr/ Capacitance only

(d) 9Rehdr 3R g1iRdr/ Inductance and capacitance

T AW oy Sie § AWG 22 & scof AWG 18 dR &l I3+ f&ar Jrar §, 39aT

In a particular circuit connection, AWG 18 wire is selected over AWG 22. The reason is
that it is having
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(a) 3T YRT dgeT el hl &THAT / Lesser weight
(b) FHFAETS / Less thickness
(c) =g ufa’rer/ Higher resistance

(d) 3TT 4RI ag<T =t I &THAT / Higher current carrying capacity

45  grax gifaEell & 1T FSAT FTRAA........ CaNT ST ST &

Power transistors with heat sink are fixed by

(a) deseT/ Welding

(b) s%eT fafer/ Fastening
(c) sif$sr/Bonding

(d) zf9er/ Taping

46 TR YT T IUANET PCB TSR H................ F v fmar Srar &

Conformal coating is done in PCB assemblies to

(a) Fof FURT / Improve strength
(b) A AR HeWOT ¥ Soacif-lerd I s / Protect electronics from Moisture and

contamination
(c) TaRrer dreedr AU/ Increase withstanding voltage

(d) Hiedureh UR=AT/ Improve aesthetics

47 FMAf3ar &1 argfer @wmd ... g
The frequency range of FM radio is

(a) 555KHzto 1.6 MHz
(b) 2GHZ to 4GHZ

(c) 20Hzto 20KHz

(d) 88MHzto 108MHz

Resistance of a copper wire decreases when ...................... increases

(a) <@TS/length

(b) dMTHATST / temperature
(c) faegd rer / insulation
(d) =T /diameter
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49 feATITET 7 & 6 & Godhl 0T el AT &
Which is the lightest particle among the following

(a) 9eT / Proton

(b) AT/ Atom

(c) =gIsT/Neutron
(d) setagleT / Electron

50 U ARV HiesX Hgcs e 9ART PCB & e Tl & v fhar amar §

A typical Solder composition used in component assembly to PCB is

(a) drar 3R TIEr / lead and silver
(b) ¥rr 3R d@F / lead and copper
(c) #mr 3R && / lead and zinc
(d) ¥rar 3R f&eT / lead and tin

51 QAT el T Jololl H T THIRADT & THG M ..o g

Main advantage of fiber optic cable over co-axial cable is

(a) 3T §&deT/ easy handling
(b) &A AR/ less weight

(c) & &fd/low loss

(d) 3mHTe 9BTOT/ easy testing

52 fae=faf@a 3mer 3R 3che aaw Jf3CRToT arell Ifed S ggame

Identify the device having the following Forward and Reverse bias characteristics.

(a) SCR
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53

54

55

(b) DIAC
(c) Zener Diode
(d) FET

feTfaf@a aRuy & gfatys & A W weiia aver gl

The wave form across the resistor of the circuit given below can be represented by

T &
% &
Vo fo
(a) ) - ;
t
(c} VU {d} b o
t t
SIRCET I CE: RN & f8eeid 9 3muTRa §
Thermocouple is based on the principle of
(a) €k gaTd / Seebeck effect
(b) W12H ¥ / Faraday’ law
(c) ot e / Lenz law
(d) I =# / Gauss law
g9y &l 9gdre / Identify the circuit
1mH i
100kQ2

(a) g$ 9rd e / High pass filter
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56

57

58

(b) s=urd fheex / Bandpass filter
(c) o ard fhee / Low pass filter
(d) &3 Raige fhee/ Band reject filter

aredfdsh ROl & I giad
Identify the gate from truth table

INPUT OUTPUT
A B
0 1
0 1 0
1 0 0
1 1 1

(a) NOR
(b) NAND
(c) XNOR
(d) XOR

fAefaf@a & & i @1 AT - dreess AAT §
Which of the following is a Non-volatile Memory

(a) RAM

(b) DRAM
(c) EEPROM
(d) Cache

AC 9RTer & gerfad oig & @efl............... & AT ST gl §

In AC circuits, laminated iron is invariably used in order to

(a) TS 4RT &7fd I A del / reduce eddy current loss
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59

60

(b) a9 faferor et a1 / increase heat radiation

(c) TAYSTeh Y TEAT 3 GofoT =1lel / make assembly cheap and easier

(d) 9IRYY IRIFIAT A A / reduce circuit permeability

A & T ggeFd TR Saa fSwh

The impedance of coaxial cable used for TV

(a) 75 ohms
(b) 500 ohms
(c) 300 ohms
(d) 10 ohms

eTolf@d 9RTYT H A 3R B & &9 99aa Far ¢

What is the potential difference between A and B of following circuit

[ |
||
100

(a) 8V
(b) 26V
(c) 14V
(d) 32v

[
]I
1o

| |
v

[ AW
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1 gfE < &1 efHar 2800 mAhE, @ IE ........ & Fore 1.4A g 3mqfed sy
If the capacity of a battery is 2800 mAM, it can supply 1.4 Ampere current for

(2) 200 f=ie / 200 minutes
(b) 100 f&=e / 100 minutes
(c) 120 fAsIc / 120 minutes
(d) 240 fA=e / 240 minutes

2 230V ufda o & AT 60 W sod TAAR & g1 I T dod STl AT
Three 60 W bulbs are in parallel across the 230 V power line. If one bulb burns out

(a) HCF ollgeT # SATCT GRT gAY
there will be heavy current in the main line
(b) 31 2 Tod YehITRIT AGT gl
rest of the two bulbs will not light
(c) T3l T Tod Yeprfre =1eT glar
all three bulbs will not light
(d) 37T &l Tod JehITRId G|

the other two bulbs will remain glowing

3 AC 9Ruy 3 arrr e g

The direction of current in an AC circuit

(a) HHRIcHS ¥ HKOMcHS / is from positive to negative.
(b) AT &M # / is always in one direction.

(c) &foT ¢7or H 9Radf / varies from instant to instant.
(d) TR =gt foram ST @ehaT / cannot be determined.

4 ROIT IR wUSEA geeER #, faggd afed . # gRadsT & f9ar v gl &
gEX aRuYy # TR gl §
In a step-up or step-down transformer, electrical power is transferred from one circuit to
another without change in

(a) dreedr/voltage
(b) 8T/ current

(c) 3R/ frequency
(d) efRdr/ capacitance
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5 DC.uRuy Frufdqg gew gar  gAT §

The power factor of a D.C. circuit is always

(a) SHS A HA/ less than unity

(b) TS / unity

(c) TS ¥ SI1ET/ greater than unity
(d) =T/ zero

6  3F¥FdH UTFd TAHIRT dd gl & oI

Maximum power is transferred when

(a) oz gfdemar> EEid gfderr

Load Impedance > source Impedance
(b) S gfcaTer < T Fictsmer

Load Impedance < source Impedance
(c) @IS gfaaTeT = THId Jiaarr

Load Impedance = source impedance
(d) oz ufaemer=0

Load Impedance =0

7 yfderd deedr R, x 100
(aﬁ VNL: FIT—?—I’I'S' EﬁRT-!T) VFL: E’T“r mm)

Percentage voltage regulation = x 100 ; (Where Vyi=No
Load Voltage, Vr =Full Load Voltage)

(@ (VnL-VEL)/VEL
(b) (VnL-VEL)/ VL
() Vr/VaL
(d) Vn/ViL

8 org Ael, ST I & e.m.f. 2V § 3R 3R IfRIEr 0.5Q 1 s@ell 7 SisT 347 B

Five cells, each with an e.m.f. of 2V and internal resistance of 0.5Q are connected in
series. The resulting battery will have

(a) 2V @& em.f. 3R 0.5 Q &7 37aRe gfeRer

An e.m.f. of 2V and an internal resistance of 0.5 Q
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(b) 10V & e.m.f. 3R 2.5 Q T 3dRS FfeRkT

An e.m.f. of 10V and an internal resistance of 2.5 Q
(c) 2V &7 e.m.f. 31K 0.1 Q &7 3R wfa”rer

An e.m.f. of 2V and an internal resistance of 0.1 Q

(d) 10V & e.m.f. 3% 0.1 Q & 37aRe gfaver

An e.m.f. of 10V and an internal resistance of 0.1 Q

Fleming’s left hand rule is applicable to

(a) dc STe¥eX / dc generator
(b) dc AIeX / dc motor

(c) SegTafd= / alternator

(d) TFHER / transformer

10  Ify usr areds F 120 FIeFd & T 60 Tdhes & o yariegd glar & ar o & arr

If 120 Coulomb of charge passes through a conductor in 60 sec, the current in the
conductor is

(a) 0.5A

(b) 2A

(c) 3.33mA

(d) 0.3 mA

11 B & ... |

Windows is a

(a) YTIMTHET ST/ Programming language

(b) 3ifeRaT 3R / Data base

(c) HTRfEeT yomelr / Operating system

(d) g 3aRT WIeehiel / Date transfer protocol

12 @rse AT &7 MY AW 200 VE, o 3HH fed A §

The peak value of a sine wave is 200 V. Its average value is

() 1274V
(b) 1414V

(c) 282.8V
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13

14

15

16

17

(d) 200V

eTaf@a & & &I ar gyfays e §

Which of following is a resistive component

(a) TE3/LED

(b) WICI ™IS / Photo diode
(¢) USSR /LDR

(d) TEEIR/SCR

Op-amp ST dleedl TAgH & HI dlecdl oIfet....... grdr gl

An Op-amp as a voltage follower has a voltage gain of

(a) 3EEF/ Infinity

(b) 2T/ Zero

(c) 7S/ Unity

(d) s A/ Less than unity

A.C. 9Ray &7 gaqc foraepr 0.8 fed umih (lagging) 40 kVA IRUY eanT 3R
afed Bl

The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA. The power
drawn by the circuit is

(a) 12kW
(b) 22 kW
() 32kW
(d) 64kW

FET & fav e=ifaf@d & & @8 fasweq Hls-ar §7?
Which of the following option is true for FET ?

(a) &fd- gdra/bi-polar

(b) A FTqe yfaaTeT/ low input impedance

(c) urrferafya a;i?cr /Is a current controlled device

(d) SEHEIH dTEh! GIRT FATAIT / operates with majority carriers

FoTH B qer- Jof Yatish &1 aaTal aicl &
The efficiency of a class B push-pull amplifier is
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18

19

20

21

(a) 90-95%
(b) 95-100%
(c) 60-65%
(d) 75-80%

SO Aeas f@an & fov Sl dr @ifefaehr e @ ol §

Which topology is used for a central Network controller

(a) ORI/ Star
(b) STl / Mesh
(c) T d/Ring
(d) feig ¥ feig/ Point to Point

Ueh ZIfaEey &l B =200 %, IS TIgsh URT 15 mA, § df 98 9RT .......... RE

A transistor has a typical value of f =200, If the collector current is 15 mA, then base
current will be

(a) 0.75mA

(b) 0.3mA

(¢) 0.075 mA

(d) 7.35mA

10 V &7 317 fa%d Ueh Si SRS & A1 SIsT 37 § aYr 1 KQ &1 9aiy SRig & 9
@ 3 ST T ¥, A oS @ yaRa o g

A forward potential of 10V is applied to a Si diode. A resistance of 1 KQ is in series with
the diode. The current through the diode is

(a) 10 mA

(b) 9.3 mA

(c) 0.7mA

(d) 0mA

PCM &1 31T §
PCM stands for

(a) Ied FRITAGAA/ Pulse carrier modulation
(b) IT$# IS ATGeleT / Primary code Modulation
(c) UeH HIs AZelT / Pulse code Modulation

Page 6 of 18



Technician-B (Electronics-Mechanic)

Question Booklet Series - C

22

23

24

25

(d) 9T$# it ATgeleT / Primary channel modulation

Parity bit check is used to

(a) 1 f9eFfE I garefemar / Detect 1 bit error

(b) 1 foe 3 I gara / Correct 1 bit error

(c) 1 o< FfC IdT oMY 3R R / Detect and correct 1 bit error
(d) 2 fee 3¢ gara / Correct 2 bit error

9 SATS 3T I g Al & AT BT §

When the diode is forward biased, it is equivalent to

(a) T 3HTH f&aa / An off switch
(b) U 3T f&aa/ An On switch
(c) T 3= faA%Iereh / A high resistance
(d) v 3Tg ed/ A high capacitance

Te HUTRA 3R E5el AR 7 &, a 3. e &

A capacitor and coil in parallel is called

(a) 3% IRYY / Tuned Circuit
(b) @refet IRIY / Timing Circuit
(c) faeie aRgy / Delay Circuit
(d) RAT g9/ Schmitt Circuit

dieedr @ & fau 3ugwd gfed

The device used for voltage regulator is

(a) THITH TS/ schotky diode
(b) I SRS/ zener diode

(c) &I 3M™IS/ varactor diode
(d) csTel SIS/ tunnel diode
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26 fA3meRr 10111 &1 SAFAFT AT .ooovvnrennnnn, gar &
The decimal equivalent of binary 10111 is

(a) 27
(b) 19
(c) 23
(d) 21

27 GPML............... aRT YRk cic] & WY Tolcl
Light travels along optical fibers by

(a) 39ace / Refraction
(b) Wrad= / Reflection
(c) gfeoie / Scattering
(d) e 3TdRe WradsT / Total internal reflection

28 gfoRe dreiorT 3 AB
In Boolean Algebra A+B =
(a) A+B
(b) A*B
(c) A+B
(d) B+A
29 FAfcecerX 16:1 & AT 3Maegs H=0T aea & g&r.... §

Number of control lines required for 16 to 1 multiplexer is

(@) 2
(b) 3
(c) 4
@) 16

30 IC 555 & foIT 39gad gIar &
IC 555 is used for

(a) drecdr fAd=0T/ Regulating voltage
(b) YTt IUesET T / Providing amplification
(c) &t/ Filtering
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(d) eIfers §=11eAT / Making oscillator

31 ©& 4 f9¢ &1 F13eT 0,1,2........ N deh @l IOTAT X Fohdl § dl “n” FT AT FAT HET ?

€C_.9

A 4 bit counter is used to count from 0,1,2...n. Value of “n” is

(a) 16
(b) 15
(c) 32
(d) 31

32 faefaf@a & & wlerar giaRe Ave & fav gged giar &

Which of the following is used for resistance measurement

(a) 93T &F / Wein bridge

(b) deEe= A / Wheatstone bridge
(c) Hergdel A/ Maxwell Bridge
(d) QN7 AT / Schering bridge

33 9 fwEer 3m3eqe e g &, IS 3R e @l so7qe 3ea &
The gate whose output is LOW, if and only if all the inputs are HIGH, is
(a) NAND
(b) NOR
(c) OR
(d) AND

34 CRO & Y- 387 ........ T g &

Y —axis in a CRO normally represents

(a) 3MgfY/ Frequency
(b) dreedr/ Voltage
(c) ¥FI/Time

(d) 31afer/Period

35 3R Giestehed ddhelle ........ F FoIT yIaFa gidr g

Successive approximation technique is used for

(a) A ¥ D9IRad= / A to D Conversion
(b) D & AuRada / Dto A conversion
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36

37

38

39

40

(c) ATIHTT ¥ drecdr URkddsT / Temperature to voltage conversion
(d) Tpfr & aeear aRadst / Strain to voltage conversion

SoIFCIeieh HATSThT & ATH A o AU Teh AW fqermreh ggere gielm &

A typical solvent used for cleaning of Electronic assemblies is

(a) 3MTSAT 9IS Vedhlgel / Iso Propyl Alcohol
(b) UCIeT/ Petrol

(c) rEfecs STeT /Carbonated Water
(d) ga=Tsgiste / Liquid nitrogen

N A H ggera wfoiess & eafld ot 33 (39 % ) e, SieEn, AN ik @il g, o
3T AT g

A resistor used in colour TV has the following colour bands (in this order): yellow,
violet, orange and silver. Its nominal value is

(a) 4.7KQ=10%
(b) 4.7KQ+5%
() 47KQ=10%
(d) 470 Q+5%

200 Hz 31gfa & fav 3mad e........ grem
For a frequency of 200 Hz, the time period will be

(a) 0.05s
(b) 0.005s
(c) 0.0005s
(d) 0.5s

I g faeuvs & A9e & fu geird &7 & 3ugerd giar §

Very small displacements are effectively measured using

(2) TIAEE/LVDT

(b) FHCEIHIT/ Multimeter
(c) uffiTex/ Thermistor

(d) cenr-aAferT/ Tacho-generator

The gold color code in a resistor indicates a tolerance of
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@) 1%
(b) 5%
©) 20%
d) 10%

41 TR YT T 3UAET PCB @St #................ F fov foar Srar g

Conformal coating is done in PCB assemblies to

(a) el URST / Improve strength
(b) 7 3R HWOT & Felercifeierd ! swl=ll / Protect electronics from Moisture and

contamination
(c) TaRrer dreedr AU/ Increase withstanding voltage

(d) HieduReh UR=AT/ Improve aesthetics

42 fAFfaf@a H @ a9 S g HUTHIT AT &
Which is the lightest particle among the following

(a) WG/ Proton

(b) UIAIT/ Atom

(c) #ggieT /Neutron
(d) seraceT/ Electron

43 giaR AT & T AT AR, CaART RIS §

Power transistors with heat sink are fixed by

(a) dessT/ Welding

(b) st faf®r/ Fastening
(c) sifsar/ Bonding

(d) ¢feT/ Taping

44 FiT I IRIY e IRYYT YRT & FeolTd T G HEm

Which circuit element(s) will oppose the change in circuit current ?

(a) fa% foRrerk / Resistance only

(b) &% SReRaT/ Inductance only

(c) % &1Rdr/ Capacitance only

(d) 9Rehdr 3R g1iRdr/ Inductance and capacitance
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45

46

47

48

49

T AW gy Sis § AWG 22 & el AWG 18 dR &l I3« far arar §, 39eT

In a particular circuit connection, AWG 18 wire is selected over AWG 22. The reason is
that it is having

(a) 3T YRT dgeT el T &THAT / Lesser weight
(b) FHFAETS / Less thickness
(c) =g ufarer/ Higher resistance

(d) 3T YRT dgeT HIT T &THAT / Higher current carrying capacity

Resistance of a copper wire decreases when ...................... increases

(a) <TS/length

(b) dM9HST / temperature
(c) ﬁa}’gﬁ Uk / insulation
(d) =Ir"/diameter

3 Reg & X Fr fEew gad T §

The arrow direction in the diode symbol indicates

(a) gorarclel 9gTd 1 f&erm / Direction of electron flow.
(b) < gTa r &= (¥ &RT T fgem) / Direction of hole flow (Direction of conventional

current)
(c) o< sga & feem (& fawli) / Opposite to the direction of hole flow

(d) ZvaeTSfad fgem/ Direction of EM field generated

e 39 Fiest FucsT foger 99T PCB & geah Aol & v f&ar Smar §

A typical Solder composition used in component assembly to PCB is

(a) drar 3R TiEr / lead and silver
(b) T 3R a9 / lead and copper
(c) #mr 3R && / lead and zinc
(d) ¥rar 3R f&eT / lead and tin

The frequency range of FM radio is
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(a) 555KHzto 1.6 MHz
(b) 2GHZ to 4GHZ

(c) 20Hzto 20KHz

(d) 88MHzto 108MHz

50 ESD & 3% gl
ESD stands for

(a) Sollaer Terfee f3argst/ Electrostatic Device

(b) seoiaer dfAfea f3argst / Electro sensitive Device

(c) oy dfdfea f3warr / Electro sensitive Discharge
(d) soheer Terfes f3&arst / Electro static Discharge

51 Qmudegd IH oo & feuld w Jmaid §

Thermocouple is based on the principle of

(a) "k 9aTd / Seebeck effect
(b) ®13H fA¥A / Faraday’ law
(c) ot &9 / Lenz law

(d) v f&9# / Gauss law

52 fefaf@d & & Sl @ Al - Qesd Aad ¥
Which of the following is a Non-volatile Memory
(a) RAM
(b) DRAM
(c) EEPROM
(d) Cache

53 AT 311 3 Soohd aRIE STAETOT arell ik T ggea

Identify the device having the following Forward and Reverse bias characteristics.
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54

55

56

(a) SCR

(b) DIAC

(c) Zener Diode
(d) FET

AC a9y & geifard ol &I Tl............. ¥ T v glar ¥

In AC circuits, laminated iron is invariably used in order to

(a) TS 4Ry &7fd I A H / reduce eddy current loss
(b) dama faferor et a1 / increase heat radiation

() TAYSTeh Y TEAT R GefoT =11l / make assembly cheap and easier

(d) g gReTFIAT & & / reduce circuit permeability

Afaf@a aRgr & A 3R B & &g fosaiar «=ar ¢

What is the potential difference between A and B of following circuit

¥
| A

| |
lev

10 10w
—T v
A B
(a) 8V
(b) 26V
(c) 14V
d) 32V

qikqer &I ggarer / Identify the circuit
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1mH ’
i 100k02
My,
(a) g3 9rd e / High pass filter
(b) s=urd fheex / Bandpass filter
(c) o ard fhee / Low pass filter
(d) &= Reige fhee/ Band reject filter
57  aredfas drelt & AT gRa #
Identify the gate from truth table
INPUT OUTPUT
A B
0 0 1
0 1 0
1 0 0
1 1 1
(a) NOR
(b) NAND
(c) XNOR
(d) XOR
58 ddr & fov ygFd dAmwEN heel fSTr ............ gfciemer gl §

The impedance of coaxial cable used for TV

(a) 75 ohms
(b) 500 ohms
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(c) 300 ohms
(d) 10 ohms

59 FATRT el R Jeloll H I TRIRADT & THG M ... g

Main advantage of fiber optic cable over co-axial cable is

(a) 3T §&deT/ easy handling
(b) ®F X/ less weight

(c) & &fd/low loss

(d) 3mHTe 9ETOT/ easy testing

60 fAfaf@d IRTY 7 gfoius & RT W weiRia der geir

The wave form across the resistor of the circuit given below can be represented by
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1 IfT e g & 120 FIciFa FHT AT 60 Thes & fov yared gar § ar arele & 4RI

If 120 Coulomb of charge passes through a conductor in 60 sec, the current in the
conductor is

(a) 0.5 A
(b) 2A

(©) 3.33mA
(d) 0.3 mA

2 gfded alecdl PR .o x 100
(aﬁ V= A-dAIs W) V= gm' Fﬂg?:ﬂm)

Percentage voltage regulation = x 100 ; (Where Vy.=No
Load Voltage, Vi =Full Load Voltage)

(@) (VnL-VEL)/VEL
(b) (VnL-VEL)/ VL
() Vr/VaL
(d) VnU/VrL

3 230V ufda aga F AT 60 W sod TAGTR & g1 I T dod STl AT ar
Three 60 W bulbs are in parallel across the 230 V power line. If one bulb burns out

(a) FEF ollgeT # SATST ERT A
there will be heavy current in the main line
(b) 31 2 Tod YehIRIT AGT gl
rest of the two bulbs will not light
(c) T3l T Tod Yep1fIe =T8T glar
all three bulbs will not light
(d) 37T & Tod TR 3T

the other two bulbs will remain glowing

Fleming’s left hand rule is applicable to

(a) dc STe¥eX / dc generator
(b) dc A1ET / dc motor
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(c) gcarafd=/ alternator
(d) TR / transformer

5 Ife d<f T &THaT 2800 mAhE, AT IE ........ & Forw 1.4A g 3mqfed s
If the capacity of a battery is 2800 mAh, it can supply 1.4 Ampere current for

(a) 200 f&=Tc / 200 minutes
(b) 100 &%= / 100 minutes
(c) 120 f&=e / 120 minutes
(d) 240 fA=AT / 240 minutes

6 dig @, TS 9% FT em.f. 2V § AR aRe 9fcRer 0.5Q &1 s@elr & Siisr a/@r g
qiRonfaa S & g

Five cells, each with an e.m.f. of 2V and internal resistance of 0.5Q are connected in
series. The resulting battery will have

(a) 2V & em.f. 3R 0.5 Q &1 3aRe giaer

An e.m.f. of 2V and an internal resistance of 0.5 Q
(b) 10V & e.m.f. 3R 2.5 Q & 37dRe gfeReT

An e.m.f. of 10V and an internal resistance of 2.5 Q
(c) 2V & e.m.f. 3R 0.1 Q &7 3R FfaRIer

An e.m.f. of 2V and an internal resistance of 0.1 Q
(d) 10V &7 em.f. 3R 0.1 Q &7 31dRE gfaey

An e.m.f. of 10V and an internal resistance of 0.1 Q

7 WU-IY IR WYSEA R H, faegd oferd ... # aREde & fdar e ooy @
g aRuer 7 weiala gt §
In a step-up or step-down transformer, electrical power is transferred from one circuit to

another without change in

(a) drecdr/voltage
(b) &RT/current

(c) 3mgR¥/ frequency
(d) @rfkar/ capacitance

8  IH¥FdH UTFd TAHART dd gl & oI

Maximum power is transferred when
(a) oS gfcaTer > Siid gicerer
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10

11

12

Load Impedance > source Impedance
(b) oz ufaemer < g gfdemr

Load Impedance < source Impedance
(c) @irs gfaeTeT = E3id gicersr

Load Impedance = source impedance
(d) g gideTer=0

Load Impedance =0

D.C. 99y &7 «fed oeeh gaem  @ar §

The power factor of a D.C. circuit is always

(a) 3PS A HA/ less than unity

(b) TS / unity

(c) TS ¥ ST/ greater than unity
(d) =T/ zero

AC 9ftgr & gry fr feer g

The direction of current in an AC circuit

(a) HHRIcHS ¥ HKOMcAS / is from positive to negative.
(b) AR T &M # / is always in one direction.

(c) &foT e7or H 9Radf / varies from instant to instant.
(d) TR =gt v ST @haT / cannot be determined.

Fir weash A & fu @l @ qifeafadhr sy & e §

Which topology is used for a central Network controller

(a) T/ Star
(b) ST/ Mesh
(c) dcI/Ring
(d) fSg @ fig/ Point to Point

FET & fau e=ifaf@a # @ @8 fasweq ala-ar 82
Which of the following option is true for FET ?

(a) &fd- gdra/bi-polar
(b) A gTqe yfaaTer / low input impedance
(c) ©RTfAATIT JfF / Is a current controlled device
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13

14

15

16

17

(d) SEHEI dTEh! GaRT FATTAIT / operates with majority carriers

10 V &7 317 fa%d Ueh Si SRS & A1 SIsT 37 § adr 1 KQ &1 9iaiy S’is & 49
ST 3 ST T ¥, A oS @ yaRa o g

A forward potential of 10V is applied to a Si diode. A resistance of 1 KQ is in series with
the diode. The current through the diode is

(a) 10 mA

(b) 9.3 mA

(¢) 0.7mA

(d) 0mA

rAfaf@a F & i a1 gfaiers gca §

Which of following is a resistive component

(a) Tars.3r/LED

(b) WIer 3RS / Photo diode
(¢) TSR /LDR

(d) TgHEL3R/SCR

Teh if8¥eX & B =200 g, IS TIEdh ORT 15 mA, § df 97 &RT .......... gref|

A transistor has a typical value of = 200 , If the collector current is 15 mA, then base
current will be

(a) 0.75mA
(b) 0.3mA

(c¢) 0.075 mA
(d) 7.35mA

Windows is a

(a) YTIMTHIT ST/ Programming language

(b) 3ifeRaT 3R / Data base

(c) HTORfEeT gomely / Operating system

(d) g 37aRoT Weehiel / Date transfer protocol

Op-amp ST dlecdl HAgeh & ol dlecdl dfsH....... gIcir &1

An Op-amp as a voltage follower has a voltage gain of
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18

19

20

21

(a) 3EEY/ Infinity
(b) 2T/ Zero

(c) 815/ Unity
(d) S A&/ Less than unity

QIS T T MY AT 200 V &, ar 30T iad AT J

The peak value of a sine wave is 200 V. Its average value is

(a) 1274V
(b) 1414V
(c) 282.8V
(d) 200V

A.C. 9Ray &7 goqe forgepr 0.8 e 7uieh (lagging) 40 kVA URUY ganrT 3R
afda Bl

The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA. The power
drawn by the circuit is

(a) 12kW
(b) 22 kW
©) 32kW
d) 64 kW

FoIE B YRI- YoT Yartich &l GaTa glell &

The efficiency of a class B push-pull amplifier is
(a) 90-95%

(b) 95-100%

(c) 60-65%

(d) 75-80%

AfcctarraX 16:1 & AT 3Maegs HI=0T dBa & &ar.... §

Number of control lines required for 16 to 1 multiplexer is

(@) 2
(b) 3
(c) 4
(d) 16
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22

23

24

25

S TS 3797 999 & ar & gHE @1 §

When the diode is forward biased, it is equivalent to

(a) T 3ATE f&qT / An off switch
(b) U 3T f&aa/ An On switch
(c) U 3T faAeh / A high resistance
(d) v 3Tg efd/ A high capacitance

Light travels along optical fibers by

(a) 379dce / Refraction
(b) Wrad= / Reflection
(c) ufeoie / Scattering
(d) = 3TdRe WradsT / Total internal reflection

gioge deerforT 3 A+B

In Boolean Algebra A+B =

(a) A+B

(b) A*B

(c) A+B

(d) B+A

Th HUTRA AR el AR H &, a 3. FET T

A capacitor and coil in parallel is called

(a) 3%T®T IR9Y / Tuned Circuit
(b) FrelsT IRIY / Timing Circuit
(c) Taei® 99y / Delay Circuit
(d) RAT g9/ Schmitt Circuit
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26

27

28

29

30

Parity bit check is used to

(a) 1 fdeFfE I garefemar / Detect 1 bit error

(b) 1 foe 3 gara / Correct 1 bit error

(c) 1 fe FfE T &M 3R GUR= / Detect and correct 1 bit error
(d) 2 fee 3¢ gara / Correct 2 bit error

IC 555 1s used for

(a) drecdr fAI=0T/ Regulating voltage

(b) YAt IUesE T / Providing amplification
(c) &t/ Filtering

(d) @ifers &=71=1T / Making oscillator

dieedl faas & foT sugsd gfad
The device used for voltage regulator is
(a) THITH SIS/ schotky diode

(b) SR 3MAS/ zener diode

(c) &I 3M™IE/ varactor diode
(d) csTel SIS/ tunnel diode

Efa3marlr 10111 &7 GHAT AT ..ovviivnn. gIar g
The decimal equivalent of binary 10111 is

(a) 27
(b) 19
) 23
@) 21

PCM &7 378 §
PCM stands for

(a) Wé’»ﬁ'ﬂ?ﬂ@?ﬁr/ Pulse carrier modulation

(b) ISFY RIS ATeleT / Primary code Modulation

(c) Waﬁ's'ﬂ'lgﬂ?r/ Pulse code Modulation

(d) 9Tg#T et ATgeleT / Primary channel modulation
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31 3R Giestehed ddhelle ... F T yIaa gidr &

Successive approximation technique is used for

(a) A ¥ D9IRad= / A to D Conversion
(b) D & AuRada / D to A conversion

(c) dTIATT ¥ Areedr IRadsT / Temperature to voltage conversion

(d) Taefar & dleedr 9RddeT / Strain to voltage conversion

32 200 Hz 3maf & faw 3ad &iet........ gam
For a frequency of 200 Hz, the time period will be

(a) 0.05s
(b) 0.005s
(c) 0.0005s
(d) 0.5s

33 gl WA & WG a3t & v ve faey faemaes ggea gier §

A typical solvent used for cleaning of Electronic assemblies is

(a) 3TSAI 9ISl Uehlgel / Iso Propyl Alcohol

(b) UCreT/ Petrol
(c) FERCS ST /Carbonated Water

(d) gaarsgiete / Liquid nitrogen

34 Y He fawuTds & AT % U gemdr 79 F 3ugeEd g §

Very small displacements are effectively measured using

(a) TAASE/LVDT

(b) FHeEIHIT/ Multimeter
(c) uffiTex/ Thermistor

(d) cenr-aAferT/ Tacho-generator

35 weh 4 f§¢ & F13eX 0,1,2........ nde FT IUEAT FR FhdT § al “n” T AT FAT T ?

e 9

A 4 bit counter is used to count from 0,1,2...n. Value of “n” is
(a) 16
(b) 15
(c) 32
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d) 31

36 CRO & Y- 38T ........ T gl &

Y —axis in a CRO normally represents

(a) 3MafY/ Frequency
(b) dreedr/ Voltage
(c) ¥#HI/Time

(d) 31afer/Period

37 yfeaRius & @Ol T A8 . TeIar gRd aar §

The gold color code in a resistor indicates a tolerance of

(@) 1%
(b) 5%
©) 20%
d) 10%

38 9 fweRr 3m3eqe e g &, IS 3R afe @l so7qe 3wa &
The gate whose output is LOW, if and only if all the inputs are HIGH, is
(a) NAND
(b) NOR
(c) OR
(d) AND

39 faefaf@a & & wlerar 9l ave & fav gged giar &

Which of the following is used for resistance measurement

(a) d%T AT/ Wein bridge

(b) drewele & / Wheatstone bridge
(c) HFHIS AT/ Maxwell Bridge
(d) QRET AT / Schering bridge

40 @ & F vgEd Sfokiees 7 3caf@d ot 33 (0 He ) dra, S, ARel iR @il g, ar
3ThT AT g

A resistor used in colour TV has the following colour bands (in this order): yellow,
violet, orange and silver. Its nominal value is
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41

42

43

(a) 4.7KQ=10%
(b) 4.7KQ+5%
(c) 47KQ+10%
(d) 470 Q+5%

ESD &r 313 gl
ESD stands for

(a) gelrergr ¥eriear f3argst/ Electrostatic Device

(b) serarer dfafea farsst/ Electro sensitive Device

(c) sorer dfafea f3Earet / Electro sensitive Discharge
(d) zeierer Terfes f3wamst / Electro static Discharge

3BT YT & 3UGRT PCB AT H................ F o far Sirar §

Conformal coating is done in PCB assemblies to

(a) o GuReT / Improve strength

(b) 7#r 3R HEWOT & Felercifeierd T s@lell / Protect electronics from Moisture and
contamination
(c) T dteedr 3T/ Increase withstanding voltage

(d) Hiedueh GURET/ Improve aesthetics

3 Rieg & I Fr feRr gad HIdr §

The arrow direction in the diode symbol indicates

(a) SolarcleT 9g1d 1 f&erm / Direction of electron flow.
(b) o IgTa hr fe=mm (v GRT T feem) / Direction of hole flow (Direction of conventional

current)
(c) ©< sga & feem (& fawli) / Opposite to the direction of hole flow

(d) ZuaeTfad fgem/ Direction of EM field generated

Resistance of a copper wire decreases when ...................... increases

(a) @IS/ length
(b) dM9HAT / temperature
(c) faggd qereh / insulation
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45

46

47

48

49

(d) =arE/diameter

AT 7 & § & goehT T hIeT AT &
Which is the lightest particle among the following

(a) WG/ Proton

(b) UIAT/ Atom

(c) #ggie /Neutron
(d) seageT/ Electron

T AW gy Sis § AWG 22 & scof AWG 18 dR &l I3« f&ar Srar §, 39er

In a particular circuit connection, AWG 18 wire is selected over AWG 22. The reason is
that it is having

(a) 3T YRT dgeT el hl &THAT / Lesser weight
(b) FHFAETS / Less thickness
(c) =g ufa’rer/ Higher resistance

(d) 3T YRT ageT HIT T &THAT / Higher current carrying capacity

FiT @r gy gesh IR ORT & dearg FHT fAer e

Which circuit element(s) will oppose the change in circuit current ?

(a) A% faRrerR / Resistance only

(b) % 9ar/ Inductance only

(c) &% a1Rdr/ Capacitance only

(d) 9Rehdr 3R a1iRar/ Inductance and capacitance

The frequency range of FM radio is

(a) 555KHzto 1.6 MHz
(b) 2GHZ to 4GHZ

(c) 20Hzto 20KHz

(d) 88MHzto 108MHz

e IV Hiest FucsT foger 99T PCB & e Aol & fav fhar amar §
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50

51

52

53

A typical Solder composition used in component assembly to PCB is

(a) drar 3R TIEr / lead and silver
(b) ¥r 3R d@F / lead and copper
(c) ¥ram 3R &% / lead and zinc
(d) ¥ 3R f&e / lead and tin

qrax gif8EeRt & 1Y FSAT ATRAA. ... EaRT SIETRIT i1 &

Power transistors with heat sink are fixed by

(a) deseT/ Welding

(b) s%eT fafer/ Fastening
(c) sif$sr/Bonding

(d) efYar/ Taping

qiRqer &I ggarer / Identify the circuit

1mH
' 100k
"

(a) g$ 9rd feeX / High pass filter
(b) s=urd fheex / Bandpass filter
(c) o ard fhee / Low pass filter
(d) &3 Reige fthee/ Band reject filter
GIRECUE I CE: IR & Teuid W 3muid &

Thermocouple is based on the principle of

(a) €k 9aTd / Seebeck effect
(b) ®13H fAFA / Faraday’ law
(c) ot s / Lenz law

(d) e =# / Gauss law

fAefaf@a & & #la @1 Al - delesa AF §
Which of the following is a Non-volatile Memory

(a) RAM
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54

55

(b) DRAM
(c) EEPROM
(d) Cache

Afaf@a aRgr & A 3R B & &g fosaiar «ar ¢

What is the potential difference between A and B of following circuit

1o

[ B

A%

1o
2
(a) 8V
(b) 26V
(c) 14V
(d) 32v
aredfdsh ROl & dc ghad
Identify the gate from truth table
INPUT OUTPUT
A B
0 0 1
0 1 0
1 0 0
1 1 1

(a) NOR
(b) NAND
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(c) XNOR
(d) XOR

56 fAAfaf@d gRuy 7 gfoiys & T W welRia dwer geir

The wave form across the resistor of the circuit given below can be represented by

4 &
|
% ]
('a} - Vo ®) FVD ;
t o VAN
© ¥o (d"°
P, t [+] t
57  AC 9RUy & geIfad olg & Fef............... & U ST gl §

In AC circuits, laminated iron is invariably used in order to

(a) US3Er &Ry &7fd I A H / reduce eddy current loss

(b) a9 fafeRvoT @1t Set / increase heat radiation

(c) TSI T TEAT 3R GeIsT S=1lel / make assembly cheap and easier
(d) IR IReFIAT e / reduce circuit permeability

58 FATRT shelel T Jololl H ] TR & THG AMH ... J

Main advantage of fiber optic cable over co-axial cable is

(a) 3T §&d=T/ easy handling
(b) &A AR/ less weight

(c) & &fd/low loss

(d) 3mHTe 9BTOT/ easy testing

59 &dr & AU ygeFd qARY hael S ... i gier §
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The impedance of coaxial cable used for TV

(a) 75 ohms
(b) 500 ohms
(c) 300 ohms
(d) 10 ohms

60 eI 3191 3R Scshdl S ITHRIOT alely iFT T ggared

Identify the device having the following Forward and Reverse bias characteristics.

e sy 0
1
(a) SCR
(b) DIAC
(c) Zener Diode
(d) FET
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REVISED-Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to the post of Electronic-
Mechanic held on 20/11/2016.
(Advt. No. ISAC.02:2016 — Post No :TE-01)

| Answer Key |
Series A Series B : Series C Series D
Question Correct Question Correct Question Correct Question Correct

No. Option No. Option No. Option No. Option

Lot | B Jp ot | B Jo | ¢ Jjo | B |

L 02 | B |02 | B J| 0 || D || 02 [AorB]
03 B 03 C 03 C 03 D
04 C 04 B 04 C 04 B
05 D 05 AorB 05 B 05 C
06 B 06 B 06 C 06 B
07 C 07 C 07 AorB 07 C

| 08 [AorBf | 08 | ¢ || 08 [ B || 08 | C |
09 C 09 C 09 B 09 B
10 C 10 D 10 B 10 C
11 A 11 C 11 C 11 A
12 C 12 D 12 A 12 D
13 C 13 C 13 C 13 B

L 14 | A Jl 14 | Cc J 14 | Cc J| 14 | C |

L 15 | B JL 15 | oA 15 | ¢ J 15 | € |

L 6 | ¢ J 16 | ¢ |16 | b J[ 16 | C |

L 17 | b J 17 J ¢ )| v | b 17 | C |
18 D 18 D 18 A 18 A
19 C 19 B 19 C 19 C
20 C 20 A 20 B 20 D
21 B 21 A 21 C 21 C

1 22 | D J| 22 | B || 22 | A J| 22 | B |

L 23 | B J|2 | B )| 23 | B || 23 | D |
24 A 24 B 24 A 24 B
25 D 25 A 25 B 25 A
26 C 26 C 26 C 26 A
27 B 27 C 27 D 27 D
28 C 28 D 28 B 28 B
29 A 29 D 29 C 29 C

[ 30 | ¢ JJ 30 | ¢ JJ3 [ b J]3 | c |
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| Series A | | Series B | | Series C | | Series D |
Question || Correct Question || Correct Question Correct Question Correct

No. Option No. Option No. Option No. Option

L 31 | A J[3 | ¢ |3 | B J 3 | A |
32 A 32 A 32 B 32 B
33 B 33 B 33 A 33 A

| 3 | B J |3 | A || 3 | B || 34 | A |
35 B 35 A 35 A 35 B
36 A 36 B 36 A 36 B

| 37 | B |3 | B || 37 | C || 37 | B |

| 38 | B || 38 | B || 38 | B || 38 | A |

| 39 J ¢ 3 | B |3 | A |3 | B |

| 40 | A J| 40 | A J| 40 | B || 40 | C |
41 B 41 B 41 B 41 D
42 D 42 D 42 D 42 B
43 D 43 B 43 B 43 B
44 D 44 D 44 B 44 D

| 45 | B || 45 | B || 4 | D || 4 | D |
46 D 46 B 46 D 46 D
47 D 47 D 47 B 47 B
48 B 48 D 48 D 48 D
49 B 49 D 49 D 49 D
50 D 50 D 50 D 50 B

| St oA JLst | ¢ J st A J| st | C |

L 52 | oA JL52 | A J| 52 | € || 52 | A |
53 C 53 A 53 A 53 C
54 C 54 A 54 A 54 C
55 A 55 C 55 C 55 C
56 C 56 C 56 C 56 A
57 C 57 C 57 C 57 A
58 A 58 A 58 A 58 C

L 59 | A JL%0 | A |59 | ¢ J| 59 | A |

L o0 | ¢ JJ 60 | ¢ JJ 60 J A JJ| 60 | A |

Answer given in yellow colour indicate the change in answer.
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